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Review 10 HW.notebook

‘m Use Square Roots to Solve Quadratic Equations pp. 652-658

Solve 5(x ~ 6)2 = 30. Round the solutions to the nearest hundredth.

5(x~6)%=30 Write original equation.
| (x~6)2=6 Divide each side by 5.
x—6==V6 Take square roots of each side.

xX=6*V6 Add 6 10 each side.
» The solutions of the equation are 6 + V6 =~ 8.45 and 6 —Ve§ ~ 3.55.
|
| éWECK  To check Lhe solutions, first rewrite Lhe

| equation so that 0 is on the one side as

| follows: 5(x = 6)* = 30 = 0. Then graph !
the related function y = 5(x — 6)2 - 30.
The x-intercepts are about 8.4 and 15 4
about 3.5. So, each solution checks.

EXERCISES

May 14, 2012

| Solve the equation. Round your solullons to the nearest hundredth,
WPLES if necessary.
G52 6sq W6 -54=0 15. 352+ 7 =14 16. &+ 11 = 24
514-18 | 17. 7% +5=9 18. 2(a + 7)% = 34
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(] solve Quadratic Equations by Completing the Square pp. 663668 |

EXERCISES

Solve the equation by completing the square. Round your solutions to the
w l\,ef\ nearest hundredth, if necessary.

20. 1" = 14x = 51 L2af +12a—-4=0
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(X solve Quadratic Equations by the Quadratic Formula _pp. 671-67% |

EXERCISES

Use the quadratic formula to solve the equation. Round your solutions to

the nearest hundredth, if necessary.

24, *—2x—15=0 25. 2m*+7Tm—3=20

26. —uw? +5w=23
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%ﬁem pp-678-083 |
:g:ﬂ;xn". ° Discriminant Mumber of

b~ 4ac sohstions
| a =168 +8x—1=0 8%~ 4(=16)(-1) = 0 One solution
| b 4f-5x+2=0 (=5) = 4(4)(2) = =7 No solution D 2 A
- -
e X +3x=0 3 —40)0) =9 Two solutions e ‘3 Y%
| EXERCISES
| PLES | Tell whether (he equation has two solutions, one solution, or no sol
-;%;6-7-9- 3 2~2x42=0 32, 4% + 12g+9=0 33, 5wt ~dw—1=0

D=g D=3
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D= (-4 )@ D = 1224 (D) B == -4 ()

Ll b=o Be 1+

D=3




